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dimN(Q) =0, N(Q) = {0} (-~ dimC(Q)=2)
dimN(Q")=m-n=3-2=1
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(a)False

A:[l O}B{l 0},A+B:[2 0},det(A+B)=4¢2=det(A)+det(B)
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(b)False

10
A=[0 J , det(2A) =4 % 2 = 2det(A)

(©)True
.+ det(AB) = det(A) det(B) = det(A™) = det(A)det(A)...det(A) = det(A)"™

(d)False

01 0 -1
A= AT =-A= . det(A) =10
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(e)True
AT=A"= AAT =
det(AAT) = det(A) det(A") = det(A) det(A) =1 = det(A) = +1
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A B _BD?

‘ ‘ _ ‘A BD™C [B)‘ = det(AD — BD)CD) = det(AD - BD'DC) = det(AD - BC)
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(c)Yes
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1
detA

At=

CT =C" =(detA)A"

=16° = 4096

(det A)* (det A) ™ = (det A)°®

det((det A)A™) =

=detC" =

detC
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C = (([det A)A™Y)
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ATYT = ((det A)?AT)T = 256[

1
detA

=((detC)C™)" = ((det A)®

cofactor matrix of C



